Practice Test
... Algebra Tools

Two less than the quotient of three and
a number »

Which of the following is an expression for the
statement above?
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How much greater than n—11 is n+37?

A) 8
B) 10
o 12
D) 14

Johnny received m text messages on Friday. three
less than twice as many text messages on Saturday
than on Friday. and five more text messages on
Sunday than on Saturday. What is the total number
of text messages he received over the three days?
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What number is halfway between s and — on

a number line?

A) -

[ =

What is 4.4985 rounded to the nearest hundredth?

A) 4.49
B) 4.498
C) 4.499
D) 4.50

[6]

Which of the following expressions is equivalent

1 1
to 3a+—)(b—2€)—:(2a+3b)?
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C) 2a-b-c¢

D) 2a+b-c



How many minutes are there in 2k hours and
6m minutes?

. X X X
If x =10, what is the value of —+—+ ?
2 20 200

A) 60h+12m
B) 120h+6m
C) 60h+6m

D) 120h+60m

1. Add 5 to a number n. If x and y are positive integers and
2. Divide by 8. 2x+ 5y =18, what is the value of x ?
3. Subtract by 1.

4. Multiply by 8.

When the sequence of operations above has been
completed in order, which of the following is an
expression for the statement above?

Ay n-1
B) n-2
C) n-3
D) n-4

[o]

Which of the following expressions is equivalent
to 2y—-x)-2(y-22)-Hx+2)7

It a=3. b=-1.and ¢=-2. what is the value

—-12+(2-b

of 727127 7D),
c+3

Ay -3x

B) —5x

C) —3x+8z

D) -5x-8:z




Answers

Algebra Tools

1. C

The phrase “two less than the quotient of three

.. 3 3
and a number n ™ is translated ——2 . not 2——.
n n

D

!‘._.l

(n+3)—-(m-1)=n+3-n+11=14

3. B

Number of text messages he received

on Friday is m . on Saturday is 2m—3 . and
on Sunday is 2m—3+5

The total number of text messages he received
over the three days is
m+(2m—-3)+(2m—-3+35)=5m-1

4. A

To find a number which is halfway between two
numbers. find the average of the two numbers.

501 5 1
‘g+§=(‘g+g3‘5=_5+2_—3 1

2 (2)6 12 12 4+

Lh

D

Underline 9. the digit in the hundredths place.
4.4985

The digit to the right of the underlined digif is
more than 5. round up. Therefore, 44985 rounded
to the nearest hundredths place is 4.50.

10.

C
1 1

30+;(b—20)—7(la+3b)

1
=3a+—b-c-a-—=>b

2 2
=2a-b-c
B

There are 2k~ 60 minutes in 2 hours.
There are (120h+ 6m) minutes in 2k hours and
6m minutes,

C
1.Add Stoanumber n. = n+5
q
2. Divide by 8. = %
q
3. Subtract by 1. = %—1
';
4. Multiply by 8. = [(n+')—1]><8
[M—l]x8=(n+5)—8=n—3
B
Qy-x)-2(y-22)-4x+2)
=2y—x-2y+4z—-4x—-4z
=-5x
5.55
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2 20 200 2 20 200



11.4

Choose the first few positive integers for x

and make substitutions for the given equation.

Construct a table of values.

X )
1 not an integer
2 not an integer
3 not an integer
4 2

Both x and y are positive integers when x

equals 4 and y equals 2. Therefore the value
of x is4.

12. 8
o a-12:(2-b) _ 3-12:(2-(-1)
c+3 -2+3
L 3-12:(3) . 3-4 _ -1
’ 1 T

Answers




